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1. BEEHNA
AREUA 50,000 50,000 0
SEINA 2,310,000 2,310,000 0
i = 1,550,000 1,550,000 0|65hE:%
ERERE 560,000 560,000 0 [A&850% B&860%
=1 = 200,000 200,000 0|10
FERAZREINA 1,650,000 1,650,000 0
[LEIRA 400,000 400,000
R—LR=INF—LE 400,000 400,000(20%t
FEINA 0 0 0
I R EBITES (FT) 0 0 0
I R BT = (B AT) 0 0 0
HEURA 50 50 0
FEERS 50 50 0
BERTEXAGT 4,410,050 4,010,050 400,000
2.BEFHXZH
BEXBERH 3,150,000 2,950,000 200,000
FRPEE 1,650,000 1,650,000 0
T REEEE 500,000 500,000 0
vIF— 400,000 200,000 200,000
BFRER 600,000 600,000 0
BEERH 964,500 700,000 264,500
= 200,000 200,000 0
ERIE 50,000 70,000 A 20,000
LEERE 0 0 0
RERRE 0 0 0
BE - EWRE 200,000 150,000 50,000
ERRE 70,000 50,000 20,000
IFER 110,000 110,000 O|=&tE
REENE 324,500 110,000 214,500 |8 s omas)
AHE 0 0 0
HiftE 0 0 0
MHE 10,000 10,000 0
BERERHE 4,114,500 3,650,000 464,500
BEEMNZERR 295,550 360,050 A 64,500
I FirEXH 250,000 250,000 0
HHAUNZ =R 45,550 110,050 A 64,500
ATHAIREIN 2 =50 6,783,242 6,702,244 80,998
JRHBGEHINZ =58 6,828,792 6,812,294 16,498




